WITH EXTENSIVE PUBLIC GOODS (E.G., PROTECTION)  THE EXPECTED IMPACT ON THE EQUILIBRIUM QUANTITY FROM AN INDIVIDUAL UNDER REVEALING VALUE (ATTEMPTING TO FREE RIDE) IS 

TRIVIAL

WE THEREFORE EXPECT THE PRIVATE PRODUCTION OF PUBLIC GOODS TO LEAD TO PRODUCTION LEVELS BELOW THE EFFICIENT AMOUNT

IS GOVERNMENT PRODUCTION A SOLUTION??

- GOVERNMENT CAN SEPARATE REVEALED VALUE FROM PAYMENT


- CREATES INCENTIVE TO OVERSTATE VALUE

- TENDS TO LEAD TO TOO MUCH PRODUCTION

   (GAINS CONCENTRATED, COSTS DISPERSED)

WHAT ECONOMIC JUSTIFICATIONS ARE THERE FOR GOVERNMENT PRODUCTION?

GOODS WHERE FORCE IS AN IMPORTANT INPUT OR OUTPUT

TAX FINANCED GOODS WHERE PAYORS DESIRE DIFFERENT ATTRIBUTES THAN CONSUMERS

THE FREE RIDER PROBLEM RESULTS FROM A PARTICULAR CASE IN WHICH INDIVIDUAL’S DECISIONS ABOUT THE “USE” OF THEIR GOODS IMPOSES BENEFITS ON OTHER PEOPLE  AN ECONOMIC EXTERNALITY
EXTERNALITIES CAN BE POSITIVE - OTHERS BENEFIT

DRESS NICE FOR CLASS

GET YOUR MEASLES SHOT

OR NEGATIVE - OTHERS LOSE

THROW LITTER OUT YOUR CAR

SMOKE NEAR ME

PLAY LOUD HEAVY METAL MUSIC

NO LONGER WILL PURSUIT OF PRIVATE INTEREST LEAD TO THE EFFICIENT OUTCOME!

THE RELEVANT DECISION MAKERS WILL NOT TAKE INTO ACCOUNT THE COSTS OR BENEFITS OF OTHERS

ECONOMIC EXTERNALITIES OCCUR ONLY WHEN AFFECTED INDIVIDUALS WERE NOT PART OF DECISION

DON’T CONFUSE “COSTS” WITH “EXTERNALITIES”

CONSIDER NOISE POLLUTION 


WAS THERE NOISE POLLUTION AT THE J&M 
CAFE ON FRIDAY??


HOW ABOUT FROM JET PLANES AT SEA-TAC



FOR BAGGAGE HANDLERS?? 



FOR PEOPLE LIVING BY RUNWAYS??

JUST BECAUSE AN ACTIVITY CAUSES AN EXTERNALITY DOESN’T IMPLY THE ACTIVITY IS UNDESIREABLE

IS POLLUTION BAD?


SOME POLLUTION IS DESIREABLE  

(CARS - the value of driving exceeds the cost of dirty air,  JET TRAVEL - value exceeds cost of noise)


ISSUE IS HAVING THE RIGHT AMOUNT OF POLLUTION

amount where the cost of reducing the pollution is no longer less than the cost of the pollution 
WHY ARE THERE EXTERNALITIES?

ALL EXTERNALITY PROBLEMS CAN BE CONSIDERED BARGAINING PROBLEMS
WHEN INDIVIDUALS CAN BARGAIN, THE ALLOCATION OF RIGHTS 

(e.g., WHETHER SMOKERS HAVE THE RIGHT TO SMOKE OR I HAVE THE RIGHT TO CLEAN AIR, e.g., WHETHER SALMON LOVERS HAVE THE RIGHT TO SALMON OR I HAVE THE RIGHT TO CHEAP POWER)

SHOULD NOT AFFECT THE USE - 

THE EFFICIENT OUTCOME IS EXPECTED

EXAMPLE

MY NEIGHBOR LIKES TO TUNE UP HIS HARLEY AT 7am ON NICE SATURDAY MORNINGS; I LIKE TO SLEEP UNTIL 8am.

HE IS HOWEVER WILLING TO SUBSTITUTE FOR THE EARLY START; I AM WILLING TO SUBSTITUTE FOR THE SLEEP

HE WOULD GIVE UP THE EARLY START FOR A CASE OF HEINEKEN (COST $18)

I WOULD GIVE UP THE SLEEP TO HAVE MY LAWN MOWED (COST $20)

EFFICIENCY REQUIRES - THAT HE WAITS AND I SLEEP!

AS LONG AS WE CAN CHEAPLY BARGAIN THIS OUTCOME IS EXPECTED EVEN IF THE LAW ALLOWS NOISE BEGINNING AT 7am.

IF I GO AND OFFER HIM A CASE OF HEINEKEN, HE WILL AGREE TO GIVE ME THE RIGHT TO QUIET.

IF I HAVE THE RIGHT TO QUIET, HE WILL BE UNABLE TO CONVINCE ME TO ALLOW THE EARLY TUNE UP.


(COASE THEOREM)
THE LESSON FROM THIS VIEWPOINT 

THE GOVERNMENT CAN GO FAR IN SOLVING INEFFICIENCIES ASSOCIATED WITH EXTERNALITIES BY


ASSIGNING ALL RELEVANT RIGHTS
IN WAYS THAT MINIMIZE THE COSTS OF BARGAINING
AND ALLOWING TRANSFERS OF THOSE RIGHTS

ILLUSTRATION OF HOW THE ABSENCE OF OWNERSHIP IS AN IMPEDIMENT TO A BARGAINING SOLUTION TO EXTERNALITIES

EXAMPLE - CONGESTION 

EVERGREEN POINT BRIDGE

THE RIGHTS TO USE OF THE BRIDGE ARE OBTAINED BY USING

DRIVERS CONTINUE TO ENTER THE ROAD AS LONG AS THE VALUE TO THE INDIVIDUAL EXCEEDS THE COST TO THE INDIVIDUAL

IF PROFESSOR LEFFLER OWNED THE BRIDGE - 

EFFICIENT SOLUTION WOULD RESULT 

OTHER EXAMPLES OF THE ABSENCE OF OWNERSHIP LEADING TO EXTERNALITIES

- FISHING 

- BLACK BERRIES ON THE TRAIL

- AIR THAT IS POLLUTED

EXAMPLE OF CONGESTION PROBLEM

EVERGREEN POINT BRIDGE

NUMBER      COMMUTE
TIME  
VALUE        


USERS          TIME (MIN)   
SAVED
SAVED
1000
      

20


10000

$1000

2000


22


16000

$1600
3000


25


15000

$1500

4000


30


     0

5000


38
ALTERNATIVE COMMUTE ROUTES 30 MINUTES

PRIVATE SOLUTION

EFFICIENT SOLUTION

IF WE CUT THE BRIDGE USE FROM 4000 TO 3000 AREN’T SOME COMMUTERS HURT?
FISHING PROBLEM

NUMBER
CATCH 
   TOTAL
    MARGINAL 

FISHERS             EACH         CATCH   CATCH EACH

1000

       5
       5000 

        5


2000

       4
       8000
           3

3000

       3                 9000               1 

4000

       2                 8000

5000

       1                 5000

OPPORTUNITY COSTS = 2


PRIVATE SOLUTION 

EFFICIENT SOLUTION

EFFECTS ON FUTURE CATCH?

THE EFFICIENT POLLUTION IS WHERE THE MARGINAL COST OF REDUCING POLLUTION IS NO LONGER LESS THAN THE MARGINAL VALUE OF CLEAN AIR.

LEAD SMELTER




       LEAD EMISSIONS LEAD             PRODUCT  HEALTH         MARGINAL

EMISSIONS   COST          COST
VALUE
COST


1
1,000,000
10,000





2
   950,000 
25,000
50,000
15,000


3
   910,000
45,000
40,000
20,000


4
   880,000
70,000
30,000
25,000


5
   860,000   100,000
20,000
30,000


6
   870,000   150,000
10,000
50,000

THE VALUE IN THE TABLE IS THE VALUE OF POLLUTION TO THE PRODUCER - THAT IS THE SAVING IN PRODUCTION COST BECAUSE OF HIGH EMISSIONS

THE COST IS THE HEALTH COST TO DOWN WIND RESIDENTS 

THE EFFICIENT AMOUNT OF POLLUTION IS 4 UNITS
